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Solutions Opti 501 1/2 
 
Problem 3-22) The integral may be broken up as the sum of four different integrals, each of 
which diverges when a certain parameter, γ, approaches zero. However, the divergent terms can 
be isolated and shown to cancel out when the four integrals are recombined. 
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Now, for the first integral we write 
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The second integral is evaluated as follows: 
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For the third integral we write 
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The fourth integral is evaluated as follows: 
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Adding the four integrals, we now find that the terms containing γ  cancel out, that is, 
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